Partial exam 2. B.  11th January,  2017 
Surname and Name:                                             

NIA:

Reply briefly and concisely all the questions. Once you have finished the exercise, rename the file as pex22XXXX.doc, where XXXX is the corresponding NIA of each student. Then, send it to adeeconometrics@gmail.com, including pex22XXXX (again substituting XXXX with the corresponding student NIA) in the subject.

The file pex22.wf1 includes information about a number of firms of a particular economy.
Y = output (dependent variable)
L1 = number of skilled workers 
L2 = number of non-skilled workers 

LL = total number of workers

K1 = light machinery capital

K2 = heavy machinery capital

KK = total capital

The aim is to estimate the investment function of this economy 

A. Using the previous database, you should first estimate a linear model with all the explanatory variables (except LL and KK) and paste it below. Later, you should reply the next questions
1.  White statistic (1 point)

	Null hypothesis
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result f the test
	


2. Breusch-Pagan statistic.
(1 point)

	Null hypothesis
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result f the test
	


3.  Ramsey’s RESET statistic.  (1 point)

	Null hypothesis
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result f the test
	


4. Analyze the possible presence of near-collinearity. Which is the value of the condition number?  (2 point)


B. According to the previous result, you should solve the possible misspecification and estimate the best possible model.

5. Copy the best possible model you have selected (2 points)

6. Interpret this model in economic terms  (2 points)

C. HAC estimation. 

7.  Estimate the final model by taking into account the robust correction of the covariance matrix. Copy it below and comment the main differences with respect to the model estimated in section B.
                                                                 (1 point)

